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1. If f & g are functions of x such that g’(x) = f(x) then,

J fX)dx=gx)+c & di{g(x)+c} = f(x), where c is called the constant of integration.
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2. Standard Formula:
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3. Integration by Subsitutions

If we subsitute f(x) =, then f'(x) dx = dt

4. Integration by Part :
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5. Integration of type | ot rbece + | fax?sbxec dx

Make the substitution x + LJL =1
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Integration of type

ax’+bx+c 9% \/m dx, |(px+q)vax®+bx+c dx

Make the substitution x + 23 =1, then split the integral as some of two integrals one containing the linear
a
term and the other containing constant term.

Integration of trigonometric functions

[ —% _ or | X R | dx ttan x = t
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acosx+bsinx+c d
J o —— dx. Express Nr=A(Dr) + B—— (Dr) + ¢ & proceed.
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Integration of type

J' x2 +1 .
P Ko 1 dx where K is any constant.

Divide Nr & Dr by x? & put x + % =t.
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i put px + g =t
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